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EXAMPLE RELATIONAL SCHEMA AND DATABASE

Sailor(sailorld, sName, rating, age)

Boat(boatld, bName, color)
Reserves(sailorld, boatld, rDate)

Attribute names in
italics are foreign

Sailor
sailorld | sName rating | age
22 Dustin 7 45
29 Brutus 1 33
31 Lubber 8 55
32 Andy 8 25
58 Rusty 10 35
64 Horatio 7 35
71 Zorba 10 16
74 Horatio 9 35
85 Art 3 25
95 Bob 3 63
99 Chris 10 30
11 tuples
DSAA 5012

Reserves
sailorld | boatld rDate
22 101 10/10/17
22 102 10/10/17
22 103 08/10/17
22 104 07/10/17
31 102 10/11/17
31 103 06/11/17
31 104 12/11/17
64 101 05/09/17
64 102 08/09/17
74 103 08/09/17
99 104 08/08/17

11 tuples

]

key attributes.
Boat
boatld bName color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper green
104 | Marine red
105 | Serenity | Cyan
5 tuples
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EXERCISE 1

Find the names of sailors who have reserved boat 103.

Sailor
sailorld | sName rating age
22 Dustin 7 45
29 Brutus 1 33
31 Lubber 8 55
32 Andy 8 25
58 Rusty 10 35
64 Horatio 7 35
71 Zorba 10 16
74 Horatio 9 35
85 Art 3 25
95 Bob 3 63
99 Chris 10 30

11 tuples

Reserves
sailorld | boatld rDate
22 101 10/10/17
22 102 10/10/17
22 103 08/10/17
22 104 07/10/17
31 102 10/11/17
31 103 06/11/17
31 104 12/11/17
64 101 05/09/17
64 102 08/09/17
74 103 | 08/09/17
99 104 | 08/08/17

11 tuples

]

Boat
boatld bName color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper green
104 | Marine red
105 | Serenity | Cyan
5 tuples




EXERCISE 1

Find the names of sailors who have reserved boat 103.

== Dustin, Lubber, Horatio

How to eliminate Iselect sNameI ———————————————————————————
. _-_-—_-_-—_-_-—_-_- --------------------- W -
duplicate columns -from Sailor, Reserves : 2
in the join result? i shame
y .where Sailor.sailorld=Reserves.sailorld; —
/' ————— .-.-.-.-.-.-.r.-.-.r.-.-.lll ———————————— =
iand boatld=103¢-----__ Lubber
- Horatio
1 \\
v N A
sailorld | sName | rating | age | sailorld1 [ boatld rDate ~ .
. N Project on
22 Dustin 7 45 22 101 10/10/17 \ sName.
22 Dustin 7 45 22 102 10/10/17 \
22 Dustin 7 45 22 103 08/10/17 v
22 Dustin 7 45 22 104 07/10/17 sailorld | sName | rating | age | sailorld1 | boatld rDate
31 Lubber 8 55 31 102 10/11/17 22 Dustin 7 45 22 103 08/10/17
31 Lubber 8 55 31 103 06/11/17 —P 31 Lubber 8 55 31 103 06/11/17
31 Lubber 8 55 31 104 12/11/17 74 Horatio 9 35 74 103 08/09/17
64 Horatio ! 35 64 101 05/09717 Keep only those tuples where the boatld is 103.
64 Horatio 7 35 64 102 08/09/17
74 Horatio 9 35 74 103 08/09/17
99 Chris 10 30 99 104 08/08/17

Join Sailor and Reserves on sailorld.

DSAA 5012 Sailor(sailorld, sName, rating, age)

]

Reserves(sailorld, boatld, rDate)
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EXE RCISE 1 (cont’d)

Find the names of sailors who have reserved boat 103.

== Dustin, Lubber, Horatio

T . Fe=—————=—====
Natur_al join ellmlnat_es Lselect sName_.L ___________________________
duplicate columns in i i P T B T P 1 -
- .--lifrom Sailor natural join Reserves: —
the join result. o e IS SRR LN J i
iwhere boatld=103} ----
/'/ l!v_ _____________ i T~ Dustin
/! T Lubber
R Horatio
\\\ A
sailorld | sName | rating | age | boatld rDate \ )
. N Project on
22 Dustin 7 45 101 10/10/17 \ sName.
22 Dustin 7 45 102 10/10/17 \
22 Dustin 7 45 103 08/10/17 v
22 Dustin 7 45 104 07/10/17 sailorld | sName | rating | age | boatld rDate
31 Lubber 8 55 102 10/11/17 22 Dustin 7 45 103 08/10/17
31 Lubber 8 55 103 06/11/17 > 31 Lubber 8 55 103 06/11/17
31 Lubber 8 55 104 12/11/17 74 Horatio 9 35 103 08/09/17
64 Horatio ! 35 101 05/09/17 Keep only those tuples where the boatld is 103.
64 Horatio 7 35 102 08/09/17
74 Horatio 9 35 103 08/09/17
99 Chris 10 30 104 08/08/17

Join Sailor and Reserves on sailorld.

DSAA 5012 Sailor(sailorld, sName, rating, age)

]

Reserves(sailorld, boatld, rDate) L6: EXERCISES




EXERCISE 2

Find the ids and names of sailors who

have reserved either a red or a green boat.

Sailor
sailorld | sName rating age
22 Dustin 7 45
29 Brutus 1 33
31 Lubber 8 55
32 Andy 8 25
58 Rusty 10 35
64 Horatio 7 35
71 Zorba 10 16
74 Horatio 9 35
85 Art 3 25
95 Bob 3 63
99 Chris 10 30

11 tuples

Reserves
sailorld | boatld rDate
22 101 10/10/17
22 102 10/10/17
22 103 08/10/17
22 104 07/10/17
31 102 10/11/17
31 103 06/11/17
31 104 12/11/17
64 101 05/09/17
64 102 08/09/17
74 103 | 08/09/17
99 104 | 08/08/17

11 tuples

]

Boat
boatld bName color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper green
104 | Marine red
105 | Serenity | Cyan
5 tuples




Join Sailor
and Reserves
on sailorld
and Reserves
and Boat on
boatld.

DSAA §

= (22, Dustin), (31, Lubber), (64, Horatio), (74, Horatio), (99, Chris)

EXERCISE 2

Find the ids and names of sailors who
have reserved either a red or a green boat.

select distinct Sailor.sailorld, sName

o e \
I
I

from Sailor, Reserves, Boat :

,,,,,, i Where Sailor.sailorld=Reserves.sailorld !
1

1

J

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)

sailorld | sName | rating | age | sailorld1 boatld rDate boatld1 bName | color
22 Dustin 7 45 22 101 10/10/17 101 Interlake | blue
22 Dustin 7 45 22 102 10/10/17 102 Interlake red
22 Dustin 7 45 22 103 08/10/17 103 Clipper green
22 Dustin 7 45 22 104 07/10/17 104 Marine red
'l 31 Lubber 8 55 31 102 10/11/17 102 Interlake red
31 Lubber 8 55 31 103 06/11/17 103 Clipper green F—»
31 Lubber 8 55 31 104 12/11/17 104 Marine red Keep only
64 Horatio 7 35 64 101 05/09/17 101 Interlake | blue those tuples
64 Horatio | 7 35 64 102 | 08/09/17 102 Interlake | red where the
74 Horatio | 9 35 74 103 | 08/09/17 103 Clipper | green boat color is
99 Chris 10 30 99 104 08/08/17 104 Marine red JEE OF {EE
12 [[‘j) L6 EXERCISES




EXE RCISE 2 (cont’d)

Find the ids and names of sailors who
have reserved either a red or a green boat.

= (22, Dustin), (31, Lubber), (64, Horatio), (74, Horatio), (99, Chris)

___________________________________ > .

- sailorld | sName

'select distinct Sailor.sailorld, sSNamer--- .

Sa||or(sa||or|d sName ratmg age) _-_—-_-_—-_-_—-_-_—-_-_—-_-_—-_-_—-_-_—-_-_—-_-_—- ---- 1 22 Dustln
SalorE, » g, -from Sailor, Reserves, Boat i Keep 31 Lubber

: i only .
Reserves(sailorld. boatld, Date) .where Sailor.sailorld=Reserves.sailorld | | unigue || o | Horate
| 74 Horatio

Boat(boatld, bName, color) : and Reserves boatld= Boat boatldI tuples. || i
sailorld | sName | rating | age | sailorld1 | boatld rDate boatld1 | bName [ color sailorld | sName
22 Dustin 7 45 22 102 10/10/17 102 Interlake red 22 Dustin

22 Dustin 7 45 22 103 08/10/17 103 Clipper green 22 Dustin

22 Dustin 7 45 22 104 07/10/17 104 Marine red 22 Dustin

31 Lubber 8 55 31 102 10/11/17 102 Interlake | red \ 31 Lubb
u - ubper
31 Lubber 8 55 31 103 06/11/17 103 Clipper green 31 Lubber
31 Lubber 8 55 31 104 12/11/17 104 Marine red 31 Lubber
64 Horatio 7 35 64 102 08/09/17 102 Interlake red 64 Horatio
74 Horatio 9 35 74 103 08/09/17 103 Clipper green 74 Horatio

99 Chris 10 30 99 104 08/08/17 104 Marine red 99 Chris

Project on sailorld and sName.
——
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EXE RCISE 2 (cont’d)

Find the ids and names of sailors who

have reserved either a red or a green boat.

= (22, Dustin), (31, Lubber), (64, Horatio), (74, Horatio), (99, Chris)

select distinct|Sailor.sailorld,) sName

from Sailor, Reserves, Boat

where Sailor.sailorld=Reserves.sailorld
and Reserves.boatld=Boat.boatld
and (color="red’ and color='green’);

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)

Why is it necessary to qualify sailorld in the select clause?

== sailorld is ambiguous in the join result.

Should we take it from Sailor or Reserves?

(For some operations it will make a difference!)

What do we get if we replace or with and in the query?

== NoO result since there is no boat whose
color is both red and green!

DSAA 5012 LT'j
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EXE RCISE 2 (cont’d)

Find the ids and names of sailors who
have reserved either a red or a green boat.

= (22, Dustin), (31, Lubber), (64, Horatio), (74, Horatio), (99, Chris)

PR PPPIT stk cmilorlAd aNommmm e > sailorld | sName
 select distinct sailorld, sNamer----------- ,
F-_-_-_-_-_-_-_.-_-_-_-_-_-_-_-_-_-._-_.-_-_-_-_-_-_-_5' ———— ———— ———— — - - - 1 22 Dustln
 from Sailor natural join Reserves natural join Boat! Keep 31 | Lubber
F‘I“I“I“I‘“I;“ “I“"I-“I"" -------------- J 0 n |y ]
i where color=red or color='green* unique 64 Horatio
————————————— Sy S | S W [ e | [ .
N tuples. 74 Horatio
A% 99 Chris
\
Y
sailorld | sName | rating | age | boatld rDate bName | color sailorld [ sName
Use natural 22 Dustin 7 45 102 10/10/17 Interlake red 22 Dustin
join to 22 Dustin 7 45 103 08/10/17 Clipper green e —— st
cimnate | | 22| o |7 | e | e | e | T
: t
dupllca'[e upber n ?ra e re upbber
columns in 31 Lubber 8 55 103 06/11/17 Clipper green ——oi————caooer—
the ioin 31 Lubber 8 55 104 12/11/17 Marine red —— ittt
resju It 64 Horatio 7 35 102 08/09/17 Interlake red 64 Horatio
: 74 Horatio 9 35 103 08/09/17 Clipper green 74 Horatio
99 Chris 10 30 104 08/08/17 Marine red 99 Chris
Keep only those tuples where the boat color is red or green. Project on sailorld and sName.
DSAA 5012 L[ JJ L6: EXERCISES




EXERCISE 3

Find the names of sailors who have
reserved both a red and a green boat.

Use intersect

Sailor
sailorld | sName rating age
22 Dustin 7 45
29 Brutus 1 33
31 Lubber 8 55
32 Andy 8 25
58 Rusty 10 35
64 Horatio 7 35
71 Zorba 10 16
74 Horatio 9 35
85 Art 3 25
95 Bob 3 63
99 Chris 10 30
11 tuples
DSAA 5012

Reserves
sailorld | boatld rDate
22 101 10/10/17
22 102 10/10/17
22 103 08/10/17
22 104 07/10/17
31 102 10/11/17
31 103 06/11/17
31 104 12/11/17
64 101 05/09/17
64 102 08/09/17
74 103 | 08/09/17
99 104 | 08/08/17

11 tuples

]

Boat
boatld bName color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper green
104 | Marine red
105 | Serenity | Cyan
5 tuples
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EXERCISE 3

Find the names of sailors who have

reserved both a red and a green boat. | US€ Intersect

= Dustin, Lubber

select sName

from (select sailorld, sName | Sailors who have
"""""""""""""""""""""""""""""" v| 77| reserved red boats.

Ifrom Sailor natural join Reserves natural join Boat !| .-

d \LV_h_e_l' _e _(iO|O£'_ [e_q' _____________________________ :' Sailors who have

mtersect? ---------------------------------------- ----» reserved both a red
and a green boat.

)
Ifrom Sailor natural join Reserves natural join Boat !
(1 Sailors who have

'WPPIE_Q@Q['_ Qfe_e_rl) __________________________ ) "™ reserved green boats.

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)
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Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)

EXE RC'SE 3 (cont’d)

Find the names of sailors who have
reserved both a red and a green boat.

Use intersect

= Dustin, Lubber

from Sailor, Reserves, Boat where Sailor.sailorld=Reserves.sailorld and
Reserves.boatld=Boat.boatld and color="red'

select Sailor.sailorld, sName

sailorld [ sName | rating | age | boatld rDate bName | color
22 Dustin 7 45 102 10/10/17 Interlake red
22 Dustin 7 45 104 07/10/17 Marine red
31 Lubber 8 55 102 10/11/17 | Interlake red
31 Lubber 8 55 104 12/11/17 Marine red
64 Horatio 7 35 102 08/09/17 | Interlake red
99 Chris 10 30 104 08/08/17 Marine red

Sailors who have reserved red boats.

from Sailor, Reserves, Boat where Sailor.sailorld=Reserves.sailorld and
Reserves.boatld=Boat.boatld and color='green’

sailorld | sName
22 Dustin Why are there
22 Dustin no duplicates
31 Lubber in the result?
31 Lubber
o4 Horatio select sName
99 Chris
sName
N | Dustin
Lubber

select Sailor.sailorld, sName

Sailors who have reserved green boats.

DSAA 5012

]

sailorld | sName | rating | age | boatld rDate bName [ color sailorld | sName
22 Dustin 7 45 103 08/10/17 Clipper green 22 Dustin
31 Lubber 8 55 103 06/11/17 Clipper green F—p 31 Lubber
74 Horatio 9 35 103 08/09/17 Clipper green 74 Horatio
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EXERCISE 3 (cont’d)

What happens

If we remove Find the names of sailors who have
reserved both a red and a green boat.

sailorld from the
two inner select

clauses?

= Dustin, Lubber

select sName
from (select sName

Ifrom Sailor natural join Reserves natural join Boat !
.where color="red’

Ifrom Sailor natural join Reserves natural join Boat !
.where color='green’);

\
1

\
1

DSAA 5012 W)

Use intersect

Sailors who have
reserved red boats.

e

Sailors who have
reserved both a red
and a green boat.

Sailors who have
reserved green boats.

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)
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What happens
if we remove
sailorld from the
inner select
clauses?

EXE RCISE 3 (cont’d)

Find the names of sailors who have
reserved both a red and a green boat.

= Dustin, Lubber

Use intersect

What is the

select sName

problem?

sName

Dustin
Dustin
Lubber

from Sailor, Reserves, Boat where Sailor.sailorld=Reserves.sailorld and
Reserves.boatld=Boat.boatld and color="red'

sailorld [ sName | rating | age | boatld rDate bName | color
22 Dustin 7 45 102 10/10/17 Interlake red
22 Dustin 7 45 104 07/10/17 Marine red
31 Lubber 8 55 102 10/11/17 | Interlake red
31 Lubber 8 55 104 12/11/17 Marine red
64. ~3f_Horatio 1| 7 35 | 102 | 0809/17 | Interlake | red

69 | Crris | 10 | 30 | 104 | o0s08n7 | Marine | red

,"' Sailors who have reserved red boats.

from Sailor, Reserves, Boat where Sailor.sailorld=Reserves.sailorld and
Reserves.boatld=Boat.boatld and color='green’

Lubber
Horatio
Chris

N

=== sName Is not
unique!

select sName

sName
Dustin

Lubber X

Horatio

:

select sName

sailorld | sName | rating | age | boatld rDate bName | color

\\‘ 22 Dustin 7 45 103 08/10/17 | Clipper | green
N 31 Lubber 8 55 103 06/11/17 | Clipper | green
74‘~~q| ﬁgr;tB:J 9 35 103 08/09/17 | Clipper | green

sName

Dustin

Sailors who have reserved green boats.

DSAA 5012

]

P| Lubber
Horatio

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)
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EXE RCISE 3 (cont’d)

Find the names of sailors who have
reserved both a red and a green boat.

== Dustin, Lubber

= Hint: You need to use correlation names

select distinct sName
from Sailor S, Reserves R1, Boat B1, Reserves R2, Boat B2

Use Join

/ iand Bl.color=red’ ____
/and S.sailorld=R2. sa|IorId “
" fand R2.boatld=B2. boatld‘ )

y 1

l’ 1
iand B2.color=' g_r(_a(_an____,

1
)
N o o
\

where S.sailorld=R1.sailorld «_
g i = Ry TR =~ RS T T~
—:and R1 boatld B1 boatld. \) The same sailor id’s have to be
) ,/’ in Sailor and in both join results.

Sailor(sailorld, sName, rating, age)

Join Reserves and Boat
where color='green'.

«--- |

Join Reserves and Boat
where color="red'.

]

DSAA 5012

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)
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EXE RCISE 3 (cont’d)

Find the names of sailors who have
reserved both a red and a green boat.

Only 22 and 31 are in both
join results and in Sailor.

= Dustin, Lubber

| Result of join Reserves and Boat where color="red'". |

Sailor
sailorld | sName | rating | age
22 Dustin 7 45
29 Brutus 1 33
31 Lubber 8 55
32 Andy 8 25
58 Rusty 10 35
64 Horatio 7 35
71 Zorba 10 16
74 Horatio 9 35
85 Art 3 25
95 Bob 3 63
99 Chris 10 30
DSAA 5012

R1.boatld=B1.boatld and B1.color="red'
sailorld | boatld rDate bName | color
22 102 10/10/17 | Interlake red
22 104 07/10/17 Marine red
31 102 10/11/17 | Interlake red
31 104 12/11/17 Marine red
64 102 08/09/17 Interlake red
99 104 08/08/17 Marine red
|
JOIN|saiIorId
R2.boatld=B2.boatld and B2.color="green’
sailorld | boatld rDate bName | color
22 103 08/10/17 Clipper | green
31 103 06/11/17 | Clipper | green
74 103 08/09/17 Clipper | green

Result of join Reserves and Boat where color='green'. |

]

Use Join

Note
Duplicate columns
are not shown in
the join result.

select distinct sName

sName
Dustin
Lubber

=>

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)

Boat(boatld, bName, color)

L6: EXERCISES



EXERCISES 4, 5, 6

Sailor(sailorld, sName, rating, age)
Boat(boatld, bName, color)
Reserves(sailorld, boatld, rDate)

Exercise 4: Find the ids and names of boats that have never been
reserved.

Exercise 5: Find the ids and names of sailors who have not reserved
boat 103.

Exercise 6: Find the names and ids of those sailors who have the same
name.

DSAA 5012 W) L6: EXERCISES



EXERCISE 4

Find the ids and names of boats that have never been reserved.

= (105, Serenity)

{select boatld, bName}
ifromBoat :
minus;

-

-

-
-

_—”
-

Join Boat and
Reserves on boatld.

boatld rDate bName color
101 10/10/17 Interlake blue
102 10/10/17 Interlake red
103 08/10/17 Clipper green
104 07/10/17 Marine red
102 10/11/17 Interlake red
103 06/11/17 Clipper green
104 12/11/17 Marine red
101 05/09/17 Interlake blue
102 08/09/17 Interlake red
103 08/09/17 Clipper green
104 08/08/17 Marine red

Project on boatld
and bName.

DSAA 5012 Boat(boatld, bName, color)

]

Reserves(sailorld, boatld, rDate)

L6: EXERCISES

boatld | bName
e
il et G S @m
—rSs——<chppor—
e e
105 Serenity
\\\ _ boatld | bName
\, 105 Serenity
A 4
boatld | bName
101 Interlake
102 Interlake
103 Clipper
104 Marine
102 Interlake
103 Clipper
104 Marine
101 Interlake
102 Interlake
103 Clipper
104 Marine




EXE RC'SE 4 (cont’d)

Find the ids and

names of boats that have never been reserved.

= (105, Serenity)

Is this a select Boat.boatld, bName
correct from Boat left outer join Reserves
solution? on Boat.boatld=Reserves.boatld
Yes! where Reserves.boatld is null;
— < Boat >< Reserves ----------------
Boat 1L O Reserves from Boat left outer join Reserves on Boat.boatld=Reserves.boatld
boatld [ bName color sailorld | boatld rDate boatld bName color | sailorld boatld rDate
101 Interlake | blue 22 101 10/10/17 101 Interlake | blue 64 101 05/09/17
102 Interlake | red 22 102 10/10/17 101 Interlake | blue 22 101 10/10/17
103 | Clipper green 22 103 08/10/17 102 Interlake red 22 102 10/10/17
104 | Marine red 22 104 07/10/17 102 Interlake red 64 102 08/09/17
105 | Serenity | Cyan 31 102 10/11/17 = 102 Interlake red 31 102 10/11/17
31 103 06/11/17 103 Clipper green 22 103 08/10/17
31 104 12/11/17 103 Clipper green 31 103 06/11/17
64 101 05/09/17 103 Clipper green 74 103 08/09/17
64 102 08/09/17 104 Marine red 22 104 07/10/17
74 103 08/09/17 104 Marine red 99 104 08/08/17
99 104 08/08/17 104 Marine red 31 104 12/11/17
105 Serenity cyan (null) (null) (null)

DSAA 5012 Boat(boatld, bName, color) U Reserves(sailorld, boatld, rDate)
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EXERCISE 5

Find the ids and names of sailors who have not reserved boat 103.

== (29, Brutus), (32, Andy), (58, Rusty), (64, Horatio),
(71, Zorba), (85, Art), (95, Bob), (99, Chris)

DSAA 5012 Sailor(sailorld, sName, rating, age)

]

Reserves(sailorld, boatld, rDate)

Is this a N qus not include
from Sailor, Reserves R sailors who have
correct et ’ 1 not reserved any
solution? _-# Where Sailor.sailorld=Reserves.sailorld 1| * boat (i.e., sailors
/ and boatld<>103: i \ who do not appear
No! Why? ;o Beemmmmmmssssmmaaaas ==ocoooooo-os = in Reserves).
sailorld | sName | rating | age | boatld rDate \
22 Dustin 7 45 | 101 | 10/10/17 y
22 Dustin 7 45 102 10/10/17 sailorld | sName
22 Dustin 7 45 | 104 | 07/10/17 22 Dustin
31 Lubber 8 55 | 102 | 10/11/17 31 Lubber
31 Lubber | 8 55 | 104 | 12117 [T 7| 64 Horatio
64 Horatio 7 35 101 05/09/17 99 Chris
64 Horatio 7 35 | 102 | 08/09/17
99 Chris 10 30 | 104 | 08/08/17
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EXE RCISE 5 (cont’d)

Find the ids and names of sailors who have not reserved boat 103.

== (29, Brutus), (32, Andy), (58, Rusty), (64, Horatio),

- -

sailorld | sName
22 Dustin
29 Brutus
31 Lubber
32 Andy
58 Rusty
64 Horatio
71 Zorba
74 Horatio
85 Art
95 Bob
99 Chris

All unique

combinations
of sailorld and
sName.

DSAA 5012

AY
\
~

(71, Zorba), (85, Art), (95, Bob), (99, Chris)

~

7

4
/

/

/
1

select sailorld, sName |

1 from Sallor )
mmusI

”".r_ _________________________ ~
‘select Sailor.sailorld, sName

from Sailor, Reserves

where Sailor.sailorld=Reserves.sailorld

\ and boatld=103;

\--q-——,
A)

sailorld | sName
29 Brutus
32 Andy ;
58 Rusty Sailors who
64 Horatio WD (2L

reserved

1 Zorba boat 103.
85 Art
95 Bob ——
99 | chris L

sailorld | sName
22 Dustin
31 Lubber
74 Horatio

Sailors who have
reserved boat 103.

Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate)
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EXERCISE 5 (cont’d)

Find the ids and names of sailors who have not reserved boat 103.

¥
sName

Dustin

Brutus
Lubber
Andy
Rusty
Horatio
Zorba
Art
Bob
Chris

~
~

- -

All unique

sailor names.

N
\

4

~
~
~

~

N

(71, Zorba), (85, Art), (95, Bob), (99, Chris)

-___kselect sName
 from Sallor

m|nusI i

. ;.r __________________________ = ,

select sName

7/

== (29, Brutus), (32, Andy), (58, Rusty), (64, Horatio),

X
sName

Dustin
Lubber
Horatio

from Sailor, Reserves

Sailors who have
reserved boat 103.

where Sailor.sailorld=Reserves.sailorld 1|
\ and boatld=103;

\--—-——,
\

sName _ _ _
Brutus What is the result if we omit
’:J:tyy Sailors who sailorld from the select clauses?
1 Zorba S et == Missing Horatio (sailorld=64).
reserved
Art boat 103.
Bob Why?
Chris == sName is not unique!

DSAA 5012 Sailor(sailorld, sName, rating, age)

Reserves(sailorld, boatld, rDate) L6: EXERCISES




EXERCISE 6

Find the names and ids of those sailors who have the same name.
== (Horatio, 64), (Horatio, 74)

select S1.sName, S1.sailorld

'from Sailor S1, Sailor S2

- |

Join Salor | 7 '!v_hete_§_1_§N§m_e__S_Z§_qu_e-
withtself. |- 7 jand $1 sailorld<>S2 sailorld;
'I
v
S1.sailorld | S1.sName | Strating | S1.age | S2.sailorld | S2.sName | S2.rating | S2.age
22 Dustin 7 45 22 Dustin 7 45
29 Brutus 1 33 29 Brutus 1 33
31 Lubber 8 55 31 Lubber 8 55
32 Andy 8 25 32 Andy 8 25
58 Rusty 10 35 58 Rusty 10 35
64 Horatio 7 35 64 Horatio 7 35
64 Horatio 7 35 74 Horatio 9 35 ——
71 Zorba 10 16 71 Zorba 10 16 Keep onIy
74 Horatio 9 35 74 Horatio 9 35 those tuples
74 Horatio 9 35 64 Horatio 7 35 where the
85 Art 3 25 85 Art 3 25 sailor names
95 Bob 3 63 95 Bob 3 63 are the same.
99 Chris 10 30 99 Chris 10 30

DSAA 5012 Sailor(sailorld, sName, rating, age) U L6: EXERCISES



EXE RCISE 6 (cont’d)

Find the names and ids of those sailors who have the same name.

== (Horatio, 64), (Horatio, 74)

ifrom Sallor81 Sailor S |
iwhere S1 sName=52.sName | ]

|
S1.sailorld | S1.sName | Strating | S1.age | S2.sailorld | S2.sName | S2.rating | S2.age ,
= 64 Horatio 7 35 74 Horatio 9 35 ,/'
74 Horatio 9 35 64 Horatio 7 35 /,/'
S1.sName | S1.sailorld Pt
Horatio 64 «-----""7"
Horatio 74

DSAA 5012 Sailor(sailorld, sName, rating, age)

Project on sName
and sailorld.

]
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